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IV Semester B.B.A. Examination, September/October 2022
(Fresh) (CBCS) (2021 — 2022 Onwards)
BUSINESS ADMINISTRATION
Paper - 4.3 : Banking Operations and Innovations

Time : 3 Hours Max. Marks : 70

Instruction : Answers must be written in English only.

SECTION - A

1. Answer any five sub-questions. Each question carries 2 marks. (5%x2=10)
a) Give the meaning of a General Lien.
b) Who is a Lunatic person ?
c) What is a post dated cheque ?
d) Give the meaning of payment in due course.
e) What do you mean by an overdraft ?
f) Give the meaning of Garnishee Order.

g) Expand NEFT and ECS.

SECTION -B

Answer any three questions. Each question carries 5 marks. (3x5=15)
2. Define a cheque. State the essential features of a cheque.

3. Explain briefly the duties of a Paying Banker.

What are the consequences of a wrongful dishonour of a cheque ?

Briefly explain NPA.

.. B B

Give a note on DEMAT Account.

P.T.O.
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SECTION - C

Answer any three questions. Each question carries 12 marks. (3x12=36)
7. Explain the general relationship between the Banker and Customer.
8. Who is a Collecting Banker ? What are the general duties of a Collecting Banker ?

9. Explain different kinds of lending facilities offered by a Bank with their advantages
and disadvantages.

10. Explain the procedure of opening a Savings Bank Account through E-Accounting.

11. Write short notes on :
a) Internet Banking

b) ATM
c) MICR.
SECTION - D
Answer any one question. Each carries nine marks. (1x9=9)

12. Draw a specimen of a crossed cheque.
OR
Explain various fee based services offered by a Bank.
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IV Semester B.B.M/M.T.A/M.B.S. Examination, September/October 2022
(F/R - CBCS)

LANGUAGE SANSKRIT (Paper - 1V)
Doothaghatotkacham and Smriti Text
Time : 3 Hours Max. Marks : 70

Instructions : 1) Q. No. | should be answered in Sanskrit only.
2) Remaining questions to be answered in Kannada/English/
Sanskrit.
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Write an essay on any one of the following.
1) FaEIch=ETHe | faed |
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Critically appreciate the play : Doothaghatotkacham. |
2) IREETEHIVT AT, A Yerie fora |
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Write an essay on similarities among Bhasa’s plays.
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Write short notes on any two.
1) [@U:
2) Nﬁﬂzﬂ:
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QTR R BRI L0 LZ08.
Translate and explain any two of the following shlokas.
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AT T
a1 et dgued: 9erd:
i nifsafa femmemrares &@r: 1)
2) SIZIATE Hecshd 1 FHEITaaaTeadresy |
SEE q91 FEH T TH FoATIiaH gd 79 1)
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Explain any two sentences with reference to context.

1) FAcreg faqaguvi Fd A |

2) QAT UEATHA] ST Fd-Eiga: |
3) ATl g3 Teal &4 A qfdarn o |

4) wife wffearder el wifag . |
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(2x5=10)

- (2x6=12)

(2x4=8)
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VI. a)
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Write an essay on the development of Smruti works.
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Introduce the famous smritikaras of Ancient India.
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Write short notes on any two.
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(1x10=10)

~ (2x5=10)
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IV Semester B.B.A. Examination, September/October 2022
(Repeaters) (CBCS)
(2015 - 16 and Onwards)
BUSINESS ADMINISTRATION
Paper — 4.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be completely written in English only.

SECTION - A

1. Answer any five sub-questions of the following. Each question carries
two marks. (2x5=10)

a) Define financial management.
b) Give the equation for EPS.

c) Fixed cost is Rs. 2,50,000, Profit is 1,75,000, Sales is Rs. 7,45,000.
Calculate contribution.

d) EBIT =5,00,000, EBT = 3,00,000, calculate financial leverage.
e) Mention any four functions of financial management.
f) Give the meaning of time value of money.

g) Give the meaning of cash dividend.

SECTION - B
Answer any three questions of the following. Each question carries six marks. (3x6=18)
2. Briefly explain the prime objectives of financial management.

3. Explain briefly the characteristics of a sound financial plan.
P.T.O.
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4. Compare the two companies in terms of operating leverage and financial

leverage.

Firm X FirmyY
Sales 30,00,000 45,00,000
Variable cost 35% on sales 45% on sales
Fixed cost 8,00,000 9,00,000
Interest 2,00,000 3,00,000

Interpret the results of the firm.

5. Mr. Anil deposits Rs. 4,000 at the end of every year for 5 years and the deposits
earn a compound interest @ 10% p.a. Determine how much money he will
have at the end of five years ? Given (1.10)° = 6.105.

6. Discuss the salient features of NPV method.

SECTION-C

Answer any three questions from the following. Each question carries
14 marks. (14x3=42)

7. What do you understand by dividend policy ? Enumerate the factors that
determine the dividend policy.

8. Give the meaning of working capital. Explain the dangers of excessive and
inadequate working capital.

9. Afirm’s cost of capital is 10%. It is considering two mutually exclusive projects
X and Y. The details are given below :

Particulars Project X  Project Y
g £q
Investment 15,00,000  15,00,000
Net annual cash flows :
1 2,00,000 8,00,000
2 4,00,000 8,00,000
3 6,00,000 4,00,000
4 9,00,000 2,00,000
5

12,00,000 2,00,000




I

Compute :

-3- UG - 359

A) Payback period
B) NPV

P.V. factor at 12% for 5 years.

Year 1 2 3 4 b
P.V. factor @ 12% 0.893 0.797 0.712 0.636 0.567

10. ABC Ltd. is capitalised with Rs. 7,00,000 divided into 70,000 equity shares
. of Rs. 10 each. The management plans to raise another Rs. 5,00,000 to
finance some expansion programme.

The following are the four possible plans :
1) All equity shares.

2) Rs. 2,50,000 in equity shares and the balance in debentures carrying
- 10% interest.

3) Rs. 2,50,000 in equity shares and Rs. 250,000 in preference shares
carrying 10% dividend.

4) All debentures carrying 8% interest.
The existing EBIT amounts to Rs. 60,000 p.a. Calculate EPS in all the
above four plans.

11. Discuss the factors affecting capital budgeting decisions of a firm.
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IV Semester B.B.A/B.H.M. Examination, September/October 2022
(2016 - 17 and Onwards)
(CBCS) (Repeaters)
LANGUAGE HINDI - IV
Upanyas, Film Review, Translation

Time : 3 Hours Max. Marks : 70
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Cinema is a popular means of entertainment in the modern days. In proof
of this, we may say that ninety nine percent of people get entertainment
through cinema. Today the income of cinema companies is crores of rupees.
From elderly person to children everyone likes cinema. No other means of
entertainment has attracted people to this extent. This proves that cinema is
the most popular means of entertainment.
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IV Semester B.B.A. Examination, September/October 2022
(CBCS) (Fresh + Repeaters)
(2015-16 and Onwards)

RWRT® I - IV
BOTEOF FOTTW T2 TV

Time : 3 Hours Max. Marks : 70
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IV Semester B.B.A. Examination, September/October 2022
(CBCS Scheme)
(F + R) (2015 - 16 Onwards)
BUSINESS ADMINISTRATION
Paper - 4.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written in English only.

SECTION - A

1. Answer any five sub-questions of the following. Each sub-question carries
two marks. (5x2=10)

a) Give the meaning of financial management.

b) Mention any two functions of financial management.
c) What is meant by discounting technique ?

d) What is operating leverage ?

e) The investment of the project is ¥ 2,00,000. Salvage value is 15% and its
additional working capital is ¥ 20,000. Calculate average investment.

f) State the techniques of capital budgeting.
g) What is doubling period ?

SECTION - B
Answer any three questions. Each question carries 6 marks. (3x6=18)

2. Briefly explain the advantages of Profit maximisation.

3. Calculate the future value of ¥ 12,000 for 4 years and the interest on it is
compounded at 12% p.a. half yearly. Given (1.06)® = 1.594.

4. Briefly explain any six determinants of a capital structure.

P.T.O.
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5. Calculate two companies in terms of its financial and operating leverage.

Firm A FirmB
Sales T 20,00,000 ¥ 30,00,000
Variable Cost 40% Sales 30% Sales
Fixed Cost ¥ 5,00,000 % 7,00,000
Interest ¥ 1,00,000 1,25,000

6. A company is requiring a machine requires an investment of ¥ 1,60,000. The
net income before tax and depreciation is estimated as follows.

Year [
1 56,000
2 48,000
3 30,000
4 64,000
5 80,000

Depreciation is to be charged on straight line basis. The tax rate is 40%.
Calculate ARR.

SECTION - C
Answer any three questions of the following. Each question carries 14 marks.
(3x14=42)
7. Explain the various principles of sound financial planning.
8. Explain the various sources of working capital funds.
9. Explain the determinants of dividend policy of the organisation.

10. A company as a EBIT of ¥ 4,80,000 and its capital structure consist of the
following securities.

Equity Share Capital (Z 10 each) % 4,00,000.
12% Preference Shares % 6,00,000.
14.5% Debentures ¥ 10,00,000.

El;es c’?mpany is facing fluctuations in its sales. What would be the changes in

1) If EBIT of the company increased by 25% and
2) If EBIT of the company decreased by 25%.

The Corporate tax is 35%.
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11. Rachith Ltd. is considering to mutual exclusive proposals for the purpose of a
new equipment.

Particulars Machine X Machine Y
Net cash outlay Z1,00,000 ¥ 75,000
Scrap value NIL NIL
Life (Years) 5 5
Project before depreciation and taxes :
1 25,000 18,000
2 30,000 20,000
3 35,000 22,000
4 25,000 20,000
5 20,000 16,000

Assuming the tax rate to be 50% and suggest the management the best
alternatives using PV factor @ 10%.

Year 1 2 3 B 5
PV factor@ 10% p.a. | 0.909 | 0.826 | 0.751 0.683 | 0.621

You are required to calculate :
a) Pay back period
b) Net present value.
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IV Semester B.B.A. Examination, September/October 2022

(CBCS)
BUSINESS ADMINISTRATION
4.5 : Services Management

Time : 3 Hours
Instruction : Answer should be written in English only.
SECTION - A

Answer any 5 sub-questions. Each sub-question carries 2 marks.

1. a) What are pure services ?
b) Who is a Tourist ?
c) State the types of insurance.
d) What do you mean by Market Segment ?
e) What is a Motel ?
f) What do you mean by Service Quality ?
g) What is E-Banking ?
SECTION - B
Answer any 3 questions. Each question carries 6 marks.
What are the functions of travel agents ?

Explain the different stages of guest cycle.
Explain the growth and types of ITES.
State the advantages of ATM.
SECTION - C
Answer any 3 questions. Each question carries 14 marks.

OO0 s~Od

7. Define services and explain characteristic features of services.

State the advantages of medical transcription services in India.

Max. Marks : 70

(5)(2:1 0)

(3x6=18)

(3x14=42)

8. “Hospitals run smoothly and profitably because nurses play unique roles”.

Highlight.
9. What are the various Ps of tourism marketing mix ? Discuss.
10. Explain various General Insurance products in India.
11. Explain in detail recent trends in Banking.
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IV Semester B.B.A. Examination, September/October 2022
(CBCS) (2015-16 and Onwards) (Repeaters)
BUSINESS ADMINISTRATION
Paper — 4.6 : Banking Regulations and Operations

Max. Marks : 70

Time : 3 Hours

L

Instruction : Answers should be written in English only.
SECTION -A

Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)
a) What do you mean by Commercial Banks K

b) Define Joint Stock Company.

c) What is meant by promissory note ?

d) Give the meaning of wrongful dishonour of cheque.

e) What is cash credit ?

f) Expand NPA and LOC.
g) Name two types of relationship between Banker and Customer.

SECTION - B

Answer any three questions. Each question carries six marks. (3x6=18)

2.

Commercial Banks play a vital role in the development of Indian Economy.
Justify.

Briefly explain Debtor and Creditor relationship between Banker and Customer.
Write a note on different kinds of negotiable instruments.
Explain the precautions to be taken by the paying banker.

Briefly explain the types of loans.

P.T.O.

20
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SECTION -C

Answer any three questions. Each question carries fourteen marks. (3x14=42)
7. Explain the credit control techniques of RBI.
8. Write a note on general relationship between banker and customer.
9. Discuss the obligations of banker to honour the customer’s cheque.
10. Define endorsement. Discuss the essentials of a valid endorsement.

11. Explain the kinds of lending facilities with their advantages and disadvantages.

2]
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IV Semester B.B.A. Examination, Sept./Oct. 2022
(CBCS) (Repeaters) (2015-16 and Onwards)
BUSINESS ADMINISTRATION
Paper — 4.5 : Service Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written in English only.

SECTION - A
Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)
1. a) What do you mean by Tourism Management ?
b) Give the meaning of franchising.
¢) What is marine insurance ?

d) Mention any four modern services provided by the banks.

e) List few types of services.

f) Give the meaning of an endowment policy.

g) Why do people go on tour ?

SECTION - B

Answer any three questions. Each question carries six marks. (3x6=18)
2. Give a brief on classification of services.
3. Bring out the problems associated with health care services.
4. Write a note on e-banking.
5. Discuss briefly the importance of tourism.
6. List out the functions of a travel agent.

P.T.O.

22
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SECTION -C

Answer any three questions. Each question carries fourteen marks.

7. Explain the marketing mix of service management.

8. Discuss in brief the various life insurance policies.

9. Tourism helps for the economic development of a country. Explain.

10. Write a note on :

a) ITES
b) Pharmacy in promoting health care.

11. Explain the different types of Mutual Fund Schemes.

A ¥

23

(3x14=42)
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IV Semester B.B.A. Examination, Sept./Oct. 2022
(Repeaters) (CBCS) (2015-16 and Onwards)
BUSINESS ADMINISTRATION
Paper — 4.2 : Business Research Methods

Time : 3 Hours Max. Marks : 70

;

Instruction : Answer should be completely written in English.
SECTION - A

Answer any five questions, each question carries two marks. (5%x2=10)
a) Define the term “Research”.
b) Mention any two principles of sampling.
c) Write a note on Chi-square Test.
d) Give a sample for close ended question.
e) What do you mean by APA format ?
f) Write a short note on Market research.
g) Write any two differences between questionnaire and schedule.

SECTION - B

Answer any three questions of the following. Each question carries
six marks. (3x6=18)

2

3.

What are the objectives of pre-testing a questionnaire ?

Briefly explain the factors that affect in the selection of an appropriate
statistical tool.

Explain various types of tables with examples.
Mention the advantages and disadvantages of face-to-face interview.

List out the functions of research report,
P.T.O.
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SECTION - C

Answer any three questions of the following. Each question carries

fourteen marks. (3x14=42)

7. Briefly explain the research process in detail.
8. Explain in detail about the role of tabulation in research.
9. Explain the format of a Academic Research Report.

10. Write a detailed note on motivational research.

11. Explain the differences between a questionnaire and schedule.

25
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IV Semester B.B.A. Examination, September/October 2022
(CBCS) (2021 - 22 Onwards) (Fresh)
BUSINESS ADMINISTRATION
Paper — 4.2 : Cost Accounting

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be in English only.

SECTION - A

1. Answer any five questions. Each question carries two marks. (5%x2=10)

a) What is perpetual inventory system ?

b) State different levels of stock.

c) Write any four examples of administrative overhead.

d) What is piece rate system ?

e) What is idle time ?

f) Write any two advantages of time rate system.

g) State two differences between fixed and variable costs.

SECTION -B
Answer any three of the following questions. Each question carries five marks. (3x5=15)

What do you mean by labour turnover ? Mention the methods of calculating
labour turnover.

2.

3. Fromthe following particulars prepare store ledger A/c under weighted average
method.
Jan. 18t stock on hand 100 units ¥ 2
Feb. 10™" issues 300 units
Jan. 5! purchases 200 units @ T 3
Jan. 10" issues 120 units

Jan. 20" purchases 250 units @ 3.20
: P.T.O.

26
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4. In a factory, the expenses are as follows.
Material Rs. 2,00,000
Labour Rs. 1,50,000
Factory expenses Rs. 98,000
Office expenses Rs. 85,000
Sales total Rs. 5,10,000

Prepare cost sheet.

5. Calculate Direct Labour Hour Rate from the following :

Total number of workers 100
Working days in a year 300
No. of hours per day worked 8
Idle time 5%
Factory overheads Rs. 11,400
Gift to workers Rs. 1,000

6. Calculate (a) Re-order level (b) Re-order quantity (c) Maximum stock level
from the following information.

Minimum stock level : 2550 units
Average stock level : 4550 units
Consumption :

Minimum 800 units per month
Maximum 1500 units per month
Delivery period :

Minimum 2 months

Maximum 4 months.

SECTION -C
Answer any three of the following. Each question carries twelve marks. (3x12=36)

7. The following transactions occurred in purchase and issue of material in an
organisation during the year 2021.

Receipts Quantity Rate
4-10-2021 200 units Rs. 24 per unit
10-10-2021 150 units Rs. 23 per unit
18-10-2021 100 units Rs. 24 per unit
22-10-2021 100 units Rs. 23.50 per unit
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10.

Issues :
5-10-2021 250 units

The stock on 1-10-2021 was 200 units at Rs. 25 per unit.
Prepare Stores Ledger Accounts and LIFO Method.

Fror_n the fol!owing information, prepare a Cost sheet and calculate cost and
profit per unit of production.

Weight of finished goods 2432 Kg
Wages Rs. 5,120
Units produced 2480
Factory overhead 60% of wages
Office overhead 25% of factory cost
Cost of raw material Rs. 3 per Kg

Wastage of raw material during processing 5%, sales Rs. 29,760.
There is no opening and closing of stock of either raw material or work in
progress.

Calculate the earnings of workers A and B on

I. Straight piece basis

Il. Taylor's differential piece rate system.

Standard production — 8 units per hour

Normal time rate — Rs. 4 per hour

Differentials to be applied :

a) 80% of piece rate below standard.

b) 120% of piece rate at above standard.

In a 9 hours day A produced 54 units and B produced 75 units.

How would you apportion the following expenses between department A and B.

Rent and rates Rs. 360
Insurance Rs. 130
Store expenses Rs. 742
Fire insurance Rs. 260
General factory labour Rs. 1,284
Depreciation Rs. 906
Holiday pay Rs. 520

Rs. 450

Plant repairs
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Information regarding the Departments available.

A B
Floor space (Sq. feet) 60 x 115 45 x 100
No. of employees 18 42
Annual direct wages Rs. 5,000 Rs. 6,000
Annual direct labour hours 36000 92500
Plant value Rs. 10,000 Rs. 2,500

11.  From the information prepare a reconciliation statement and find out profit as
per financial accounts.

Rs.
a) Net profit as per cost accounts 3,44,800
b) Works overheads under recovered in cost books 6,240
c) Administration overhead recovered in excess 3,400
d) Depreciation charged in financial accounts 22,400
e) Depreciation recovered in cost books 25,000
f) Interestincluded in financial books only 16,000
g) Obsolescence loss charged in financial accounts 11,400
h) Income tax provided in financial accounts only 80,600
i) Bank interest and transfer fees credited in financial books 1,500
j) Depreciation of stock charged in financial books 13,500
k) Stores adjustments credited in financial accounts 950

SECTION -D
Answer the following question (any one) : (1x9=9)

12, a) Briefly explain the reason for labour turnover in organisation.

OR

b) List out 10 items either debit or credit, which appear in financial account
but do not appear in cost account ?
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IV Semester B.B.A. Examination, September/October 2022
(CBCS) (2015-16 and Onwards) (Repeaters)
BUSINESS ADMINISTRATION
Paper - 4.6 : Banking Regulations and Operations

Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written in English only.
SECTION - A

1. Answer any five sub-questions. Each sub-question carries two marks. (5x2=1 0)
a) What do you mean by Commercial Banks ?
b) Define Joint Stock Company.
c) What is meant by promissory note ?
d) Give the meaning of wrongful dishonour of cheque.
e) What is cash credit ?
f) Expand NPA and LOC.
g) Name two types of relationship between Banker and Customer.

SECTION - B
Answer any three questions. Each question carries six marks. (3x6=18)

2. Commercial Banks play a vital role in the development of Indian Economy.
Justify,

3. Briefly explain Debtor and Creditor relationship between Banker and Customer.
4. Write a note on different kinds of negotiable instruments.

5. Explain the precautions to be taken by the paying banker.

6. Briefly explain the types of loans.

P.T.O.
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SECTION-C

Answer any three questions. Each question carries fourteen marks. (3x14=42)
7. Explain the credit control techniques of RBI.
8. Write a note on general relationship between banker and customer.
9. Discuss the obligations of banker to honour the customer’s cheque.
10. Define endorsement. Discuss the essentials of a valid endorsement.

11. Explain the kinds of lending facilities with their advantages and disadvantages.
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IV Semester B.B.A. Examination, September/October 2022
(CBCS) (Repeaters) (2015-16 and Onwards)
BUSINESS ADMINISTRATION
Paper — 4.7 : Cost Accounting

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written in English only.

SECTION - A

1. Answer any five sub-questions of the following. Each sub-question carries
2 marks. : (5%x2=10)

a) Define Cost Accounting.
b) What is a Cost Unit ?
c¢) Give the difference between Bin card and Stores ledger.
d) What is an idle time ?
e) Mention the basis of apportionment for the following :
i) Rent ii) Depreciation.
f) What is overheads ? Give two examples.
g) Give the meaning of Memorandum Reconciliation Statement.

SECTION - B

Answer any three questions of the following. Each question carries
six marks. (3x6=18)

2. Briefly explain the difference between Cost Accounting and Financial Accounting.

3. The following data relates to the manufacture of a standard product during the
month of April 2021.

Raw Material consumed % 80,000

Direct wages X 48,000

Machine hours worked 8000 hours

Machine hour rate X 4 per hour

Office overhead 10% on works cost
Selling overhead % 1.50 per unit

Units produced 4000 units

Units sold 3600 units at T 50 each

You are required to prepare a Cost Sheet.
P.T.O.
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2. LRI

4. Calculate the Re-order level, Maximum stock level and Minimum stock level.

Re-order quantity — 1500 units
Re-order period- 4 to 6 weeks

Maximum consumption — 400 units per week
Minimum consumption — 200 units per week.

5. During a week of 48 hours a worker produced 360 articles. He is paid ¥ 10 per
hour. Standard time to produce one article is 10 minutes. Compute total wages
under Halsey Plan and Rowan Plan.

6. Calculate Machine hour rate.

Cost of Machinery 312,50,400
Estimated life 1,50,000 hours
Scrap value % 50,400
Repairs per annum % 15,000
Power consumption 3 units per hour % 5 per unit
Estimated working hours per month 200 hours
Number of operators (looking after 3 other
machines also) 2
Wages per operator per month % 15,000
Chemical required per machine per month % 1,000
Other overheads on this machine per month < 2,000
312,000

Insurance per annum

SECTION-C

Answer any three questions of the following. Each question carries

fourteen marks.

(3x14=42)

7. From the following data collected from the books of Den Co. for the year ended

2021. Prepare a Cost Sheet.

Cost of materials
Cost of labour
Factory expenses

Administration expenses
Selling and distribution expenses
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Percentage of factory expenses are based on cost of labour. Administration
expenses and selling and distribution expenses are recorded as percentage

of factory cost.

In 2022, the material required for the execution of work order is estimated
at ¥ 5,000 and labour cost at ¥ 3,000. Charge Profit at 25% on selling price.
Find the price of work order of 2022.

8. Prepare a Stores Ledger from the following data using
i) First In First Out (FIFO)
i) Last In First Out (LIFO)

April
1 Opening balance 10,000 kgs at ¥ 130 per kg
2 Purchased 20,000 kgs at X 134 per kg
3 Issued 6750 kgs
4 |ssued 8500 kgs
6 Surplus 550 kgs received back at X 132 per kg
7 Purchased 17,500 kgs at ¥ 128 per kg
8 Issued 11,200 kgs
9 Issued 2,600 kgs

9. Calculate earnings of workers A, B, C and D under Straight Piece Rate System
and Taylor’s Differential Piece Rates. They produced 70, 79, 80 and 85 units
respectively in a day of 8 hours work.

Standard production : 10 unit per hour
Normal time rate : 50 paise per hour
Differential Rate : 80% of piece rate below standard

120% of piece rate above standard

10. Kishan Limited has three Production department P, Q, R and two Service
department S and T. The following figures are extracted from the records of
the company.

Rent - ¥ 5,000 Indirect wages — ¥ 1,500 Depreciation — ¥ 10,000
Power—-% 1,500  General lighting — % 600 Sundry expenses —310,000

36



BRI

UG — 362 4

Following further details are available :
tal

Particulars P Q R S -(IJ.O 12003 :
Floor space (Sq. mts)| 2,000 | 2,500 | 3,000 | 2,000 | S =
Light points 10 15 20 10 5
Direct wages 3,000 | 2,000 3000 | 1,500 | 500 10,000
H.P of machines 60 30 50 10 - 150
Value of Asset 60,000 | 80,000 |1,00,000| 5,000 5,000 | 2,50,000

The expenses of the Service Departments are charged out on percentage basis to
Production Department as follows :

Particulars P Q R S T
Service Department (S) 20% 40% 30% - 10%
Service Department (T) 40% 20% 20% 20% -

a) Prepare Primary Distribution Overhead Summary.
b) Prepare Overhead Distribution Summary under repeated distribution

method.

11. From the following figures, prepare a Reconciliation Statement and determine

the financial profit.

Particulars

Net profit as per Costing Books
Factory overhead under recovered in costing
Administration overhead recovered in excess

Depreciation charged in financial books

Depreciation recovered in costing
Interest received but not included in costing
Income tax provided in financial books
Bank interest credited in financial books

Stores adjustment credited in financial books
Dividend apportioned in financial books

Depreciation of asset charged in financial accounts
Loss due to theft and pilferage provided only in financial books
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66,760
5,700
4,250
3,660
3,950

450
600
230
420
1,200
860
260
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IV Semester B.B.A. Examination, Sept./Oct. 2022
(CBCS) (F+R) (2015-16 and Onwards)
BUSINESS ADMINISTRATION
Paper — 4.3 : Marketing Management
Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written in English only.

SECTION - A

1. Answer any five of the following questions. Each question carries 2 marks. (5x2=10)

a) What do you mean by marketing ?

b) Give the meaning of branding.

c) Give the meaning of market positioning.
d) What do you mean by virtual marketing ?
e) Give the meaning of marketing mix.

f) Give the meaning of micro environment.

g) What do you mean by skimming pricing ?

SECTION - B

Answer any three of the following questions. Each question carries 6 marks. (3x6=18)

2
3
4
5
6

. Explain the different levels of channels of distribution.
. Differentiate between marketing and selling.

. Explain any four essential qualities of a good salesman.

. Explain the objectives of CRM.
. Briefly explain the Psychological factors influencing the consumer behaviour.
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SECTION -C
Answer any three of the following questions. Each question carries 14 marks. (3x14=42)

7. What do you mean by macro environment ? Explain the components of macro
environment.

8. Briefly explain the bases of market segmentation.
9. Explain the different factors influencing the pricing.

10. Explain the different concepts of marketing.

11. Write short notes on :
a) Packaging
b) Retailing
¢) Relationship marketing
d) Green marketing.
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IV Semester B.B.A. Examination, September/October 2022
(CBCS)
BUSINESS ADMINISTRATION

4.5 : Services Management

Time : 3 Hours Max. Marks : 70
Instruction : Answer should be written in English only.
SECTION - A
Answer any 5 sub-questions. Each sub-question carries 2 marks. (5%2=10)

1. a) What are pure services ?
b) Who is a Tourist ?
c) State the types of insurance.
d) What do you mean by Market Segment ?
e) What is a Motel ?
f) What do you mean by Service Quality ?
g) What is E-Banking ?
SECTION -B
Answer any 3 questions. Each question carries 6 marks. (3x6=18)
2. What are the functions of travel agents ?
State the advantages of medical transcription services in India.
Explain the different stages of guest cycle.
Explain the growth and types of ITES.
State the advantages of ATM.
SECTION-C
Answer any 3 questions. Each question carries 14 marks.
7. Define services and explain characteristic features of services.
8. “Hospitals run smoothly and profitably because nurses play unique roles”.
Highlight.
9. What are the various Ps of tourism marketing mix ? Discuss.
10. Explain various General Insurance products in India.
11. Explain in detail recent trends in Banking.

L

(3x14=42)

40



I O 64426

IV Semester B.B.A. Examination, Sept./Oct. 2022
(CBCS) (F+R) (2015-16 Onwards)
BUSINESS ADMINISTRATION
Paper — 4.7 : Cost Accounting

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written only in English.
SECTION - A

Answer any five sub-questions of the following. Each sub-question carries

2 marks. (5%2=10)

1. a) Define cost accounting.
b) What do you mean by time keeping ?
c) Give the meaning of cost centre.
d) Give the meaning of machine hour rate.
e) What is idle time ?
f) Give the meaning of reconciliation statement.
g) Mention any 4 examples of selling overheads.

SECTION - B

Answer any three questions from the following. Each question carries
6 marks. (3x6=18)

2. Explain briefly purchase procedure.

3. From the following, calculate ROL, maximum level and minimum level.

Maximum usage — 1500 units/week
Minimum usage — 1000 units/week
ROP - 4to 6 weeks
ROQ -~ 5000 units

4. From the following information, calculate earnings of Mr. X and Y on Straight
piece rate and Taylor's piece rate system.
Standard production — 8 units/hour
Normal rate — ¥ 4/hour

P.T.O.
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Differential rates are

a) 80% of piece rate below standard
b) 120% of piece rate above standard
In 9 hours, Mr. X produced — 54 units

Mr. Y produced — 75 units.

: \ents. Expenses
5. AB Ltd. has 3 production departments and 2 servicé departm P

incurred for the period are as under :

Rent — 30,000

Insurance of stock — ¥ 5,600

Depreciation - 310,000

Supervision - 38,500

Power - 321,000

Repairs - 3,600

The following data also available in respect of all the departments.

Particulars A B C o 23 E
Area (sq.ft.) 500 300 200 v o B0 100
Value of stock (%) 15,000 9,000 6,000 s =
Value of plant (%) 50,000 30,000 15,000 5,000 5,000
No. of workers 50 35 20 10 5
HP of machines 20 20 10 = _
Direct wages (3) 10,000 8,000 6,000 6,000 4,000

Prepare primary distribution summary.

6. Calculate machine hour rate from the following :
Cost of machine ¥ 4,00,000
Installation charges ¥ 10,000
Scrap value ¥ 40,000
Life of machine 10 years
Yearly working hours ¥ 2,500
Repairs @ 30% of depreciation TR Bivhaiibs
Power 10 units per hour @ % 6/unit. G SIONRT e
Oil expenses T 100 per day of 8 hours rotiniel b
Supervision charges ¥ 20,000 p.a.
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SECTION - C

Answer any three questions from the following. Each question carries
14 marks.

64426

(3x14=42)

7. B Ltd. manufactures and sells special types of toys. Following is the cost break-up

for a toy.

Direct material ¥ 240

Direct labour X 180
Manufacturing expenses X 120
Administrative expenses T 100
Marketing expenses T 60
Profit T 30

A customer has asked for a quotation for 500 toys . It is ascertained that :

a) Material cost will decrease by 2%.
b) Labour cost will increase by 3%.
c) Manufacturing expenses are recovered as a % of direct wages.
d) Administration OH is absorbed as a percentage of works cost.
e) Marketing expenses remain same per unit.
f) Profit to be charged @ 10% on selling price.
You are required to prepare :
i) Present cost and profit statement
ii) Quotation for 500 toys.

8. Prepare a reconciliation statement from the following data.
Net loss as per cost accounts T 3,44,800
Works OH under recovered in cost A/c X 6,240
Depreciation over charged in cost A/c ¥ 2,600
Admin OH recorded in excess in cost A/c ¥ 2,600
Interest on investments ¥ 17,500
Goodwill written off in financial A/c’s T 11,400
Income tax paid ¥ 80,600
Stores adjustment credited in financial A/c's ¥ 950
Depreciation on stock charged in financial A/c's ¥ 13,500.
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h h
nufacturing company which has 3

9. The following particulars relate to a ma
production departments and 2 service departments. . 7 -
4
2,000

ockiindiusth 3 X

Total departmental overheads |
as per pnmary distribution

800 | 4,500 |
7400 12 expenses on the basis

6,300
The company decided to charge the service department

of following percentages.
Service Production Dept. | Service Dept.
Dept’s. A B C X Y
X 40% | 30% | 20% B 10%
¥ 30% | 30% | 20% | 20% | =

Find the total overheads of production departments using :
a) Repeated distribution and
b) Simultaneous equation method.

10. From the following prepare stores ledger using FIFO method.
1 Apr. 21 - Opening balance 500 units @ 25/unit 6
3 Apr. ~ Issued 250 units e,
13" Apr. - Purchased 200 units @ T 24.5/unit.
14" Apr. - Return of surplus 15 units @ T 24/unit
16™ Apr. - Issued 180 units
21* Apr. - Purchased 240 units @ T 24.4/unit
24" Apr. - Issued 304 units
25" Apr. - Purchased 320 units @ T 24.3/unit
26" Apr. - Issued 112 units
27" Apr. - Purchased 100 units @ T 25/unit and paid freight charges % 200.
Stock verification reveals a shortage of 5 units on 15™ Apr, and 8 units on 27" Ap:

11. Production section of a factory working on job ord
under Rowan system and Haiseyplanworkorsanahgmemm' p;rysou:me&?

per week of 48 hours. Wage rate T 80 per day of
doﬂodtowotkarm.Pmodelailsarezbeygw;ahoum'mhbrland2 are

Job Time allowed Time taken
1 25 hours 20 hours
2 30 hours 20 hours

jobs 1 and 2.
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